.\ LOMBARD INHup: pisgeio LoW_702

A KOHLER. COMPAE R gine: LDW_702/P Drawing: I

CONTROLS
POS. |CODE DESCRIPTION Qty

la 3300.237 nut (EPA type) 1

2 4670.062 copper gasket diam. 6,2 X 10 X 1,5 1

6 1380.103 injection pump control rod 1

8 6320.073 plate 1

8a «————- » plate 0

9 9732.096 screw M 3 X 6 2
11 4480.040 gasket 16X20 1
12 8576.144 locked torque device 1
16 1200.052 O ring 1
19 5655.256 eXtra-fuel spring 1
23 7626.037 washer 2
25 B240.008 nut M 6 2
26 1760.029 adjusting bolt M 6X30 2
27 6110.101 control lever pin 1
29 9865.202 screw M 3 X 10 2
30 1200.037 rubber o0il seal 1
37 1760.001 bolt M 6 X 1 X 10 1
38 3240.008 nut M 6 1
41 5660.065 recovery spring 1
42 1957.014 sleeve 1
43 1760.081 screw M 6 X 20 1
44 5200.674 internal lever 1
45 «————= » see Pos. 47+.. 0
46 6140.420 journal 1
47 4896.360 governor lever ass.y 1
50 1954.020 sleeve 1
56 4896.625 min-maX device 1
57 6370.331 locking plate 1
60 5271.266 throttle lever 1
62 6205.029 pin 1
63 3240.004 nut M 5 2
64 JT71R.001 washer diam. 5,3 2
65 9245.170 tie rod 1
66 9730.095 screw M 5 X 20 1
67 2015.095 sensor cam 1
68 J71R.001 washer diam. 5,3 1
69 1760.001 bolt M 6 X 1 X 10 2
70 9700.121 vacuum valve 1
71 5271.218 accelerator control lever 1
73 1755.002 bolt M 5 X 0,8 X 12 1
74  6360.155 plate 1
75 1241.053 circlip 1
76 5997.066 wire sleeve 1
77 B675.022 locking 1
78 T625.007 washer diam. 6 2
79 1241.056 circlip 1
80 6140.484 pin 1
81 3240.1064 nut M 8 1
82 8545.844 bracket 1
83 1200.051 rubber o0il seal 1
84 9800.136 screw M 3 X 14 1
85 3203.076 nut M 3 1
102 1241.053 circlip 1

printed by LOMBARDINI: 29/03/2018 -

1




Group: Piaggio LDW_702

Engine: LDW_702/P Drawing: I

CONTROLS
POS. |CODE DESCRIPTION Qty
103 9346.087 union hose 1
104 D346.086 union hose 1
127 1755.001 bolt M 5 X 0,8 X 8 1
128 7625.285 washer diam. 5,3 1
129 6140.550 lever shaft 1
130 3203.050 selflocking nut M 6 1

printed by LOMBARDINI: 29/03/2018 -

2




Engine: LDW_702/P Drawing: I

66 65 63

ﬁgffii 64 74 69

60 62

12256 85 84
129@ % X@ /

|
16—~ 2 102

printed by LOMBARDINI: 29/03/2018

Iy
(2]

!

i
Y




